Diff Cal - Review for Test 2

September 22, 2015

Homework for Test #2 on Derivatives Test 2 - Wed q /23
LA ° .
. %, 2.1 #1-23 odd Find the derivative by the limit process Recommended:
"g& BN 2.1 #29-32 all find the equation of the tangent line Work through intuitive
e 2.1 #61-69 odd Use the alternate form to find the derivative exercises on Khan Academy:
2.1 #71-79 odd Describe x-values where the function is differentiable (given graph) 3 S(ope of secant lines
% T
K *  Tangent lope is limitin,
e/% 621/% 2.2 #3-51 odd Find the derivative using the basic derivative rules g P g
"‘?[; s 2.2 #91-94 all; 101, 102 use the derivative to solve rate of change word problem value of secant s{ope
e * Derivative intuition
g .
A < 2.3 #1-53 odd, 63-69 odd, Product and quotient rules . g oo o o
% Ty, — Visualizing derivatives
L, > 2.3 #75-81 all, 83-91 odd, 109-115 all Rates of change, second derivatives .
R * Graphs of functions and
>
Z . . P
€ 2.4 #7-33 0dd,|47-81 odd Chain rule their derivatives
e due Tuec 9/22 *  The formal and alternate
o 5.1#45-61 0dd, 71 Logarithmic functions form of the derivative
HW #9 o 5.4 #39-57 odd Exponential functions *  Derivatives 1
due Wed. 9/23. 5.5#41-55 odd Log and exp functions with other bases *  Recognizing slopes of
. . urve
e 58#41-59 odd Inverse trig functions curves
*  Power rule
*  Special derivatives
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N

[sinx] =¢coS [arcsinx]’ = \rl—-/—x—z_
[cosx] = _S)‘,\)Q [arctan x]" = _ﬁ—\L
X
[tanx] = QLZ'K [arcsecx]’ = !
= I [ o =]
[cotx]" = "CS% [arccosx] = - Ewumg /

[secx]’ ZSQL)\W [arccotx] = — [ﬂﬂzl’a’v)‘j /
[cscx]’ = ’CS(_?Q(O:P\ [arccscx]’ = ~ EO\MC(,X]

_ c¢sc (Ln(x‘))
F(x)= 5Fx+ Siax

‘F\(@ ;Eﬂx +5.m§(- Cm[h(x‘»g-h((,,(x"» : )i(.?_. 2x ) —
Csccuv(l\“)) -(’9?— 4—<,osx>j /(3,#%‘,9
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f(x) _ Cot(Sarcsin(4x3))

wmébé snfx’) 2
‘F(/C) -csc )]50"‘ YE) , (4)‘3) -|2%

f(x) :Ecan(ln x}} E’SZ%
F= () £)5"+fn(in]] 543 -2

arctan(5 sin x)

flx) = logs(4x>) |

£ 0= (lﬁsc‘b‘ )> l-I—(Ssmoc)" Drosn — ““"‘(5"‘0 X In® QO)?
- (log_; (f0°s>j—

f(x) = sec?(5In(x?) — 3") -
= Esec. (Sln ()\» ) - ]
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_— rcot(3x“—In2x
f(x) = 5eou )
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f(x) = 23* —logs(e* — sin(x3)) + arcsec(5x)
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